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Reduction - Oxidation Reactions

In acid solution
6H" + ClO; + 6I ----> C1" + 31, + 3H,0

16H" + 5C,0,> + 2MnQ, --—-->2Mn " + 10CO, + 8H,0

. 2H,0 + Br, + SO, --—-> 2Br + SO,* + 4H"

2H" + MnO, + NO, ----> NO; + Mn*" + H,0
14H" + 3Sn*" + Cr,0,* ---->3Sn*" +3Cr’" + 7H,0

8H+ + CuS + 8NO3_ -——-> CU(NO3)2 + 6N02 + SOZ + 4H20

. 8H'+ 6l + 2NO; ---> 31, + 2NO + 4H,0

. In base solution

. 8H" +2MnO, + 61 --->2MnO, + 31, +4H,0

. H,O0 + 20H +2NiO, + S,05” ---=> 2Ni(OH), + 2S0s>

. 6H,0 + 70H +4Zn + NO; ---> NH; + 4Zn(OH),”

H,O + 2MnO4 + 3NO; ----> 2MnO, + 3NO; +20H

. 120H + 6Cl, ----> 2ClO;5” + 10CI" + 6H,0

2H,0 +4MnO, + 3CIO;" --->3MnO, + 3ClO4 +40H

. 60H +6Mn*>" +1 -——> 6Mn*" +10; + 3H,0



